o General Iustructmns g

- r.ompnsev of 10 questions of ! mark eacl; Se( tion B wmpn ses of & ques nons of 2 mar& each,

:_f Section C Compn s‘es rJf ! O que mon sof 3 marks eack and S ection D compns&s fe f 6 qm stions of -

S & marks each : o : e

SR (u:) Question mm:ber'r Ito'l 0 in Secnon Aare mulnp!e dmrce que stions uhm’ )au are p

: - correct option olt of the given four s : - g - e
(w) There is ne' overall choice; However; infernal chmc‘e hm been pmuded inl qm..mo of nm'z'

SR man{s 3 questions of three marks éach and 2 quesuons of four mfm{ ) ead ; }’ou hm € to ar!err;pr :

L only one of the alternatives: in all suc h quem(ms T '
(v) Ufe of ca!cufamrv is not pemmred o

e;’ecf one. o

y 'if_ ; Q:t’es‘rion numbers 1 1o°10 are of one mark each.’:
- L The vo!umefof two thcrc'; an. m thc I"lth 64 27
“Hay 16 91' E NOKH

(r:) 4 : Sy 3 4
E -~ 2 A chord of a c:rc!:, of rad:uq 14 em sub:ands a r:ght zmgfc at thc ccntrt, Thc area of. the mino
- 'qcctor is e -
Aa): 140cm {b) 147cm R
L (0) 154 em? (d) 16k em? oo

S o and f.are the roots of lhc L(}Uﬂll{)l’l r‘ St =

S 4_ g, lhcn lhc cquat:o
-""_r_'_"-_'a+l und B+I :s :
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i ?"'(c) N

!fone root of lhc qmdrmt, Lc;ualmn 3u” ke — 4 -0 s 2 " tth thc \a[uu ofi». .md thc oth

b) k g. 3 ':'nid.' 'o'thc'r E‘obf =

S 10.' ‘A circus artist is climbing from the ground ‘:long FYs ropt, SII’LICI]Cd from lhc lop ofa \crt a! ole
“and tied at the & ground. The height of the po!t_ is 15 m and the anigle made by, the: rope wi a3
'5 43 Tht.. d;smncc cow,rcd by the 'mlst in c]1mbmg to the | top of lhc poleis
SUA




Quicstion nunbers, I I3 !0 v 8 carry-2:
OO A blcv

... The inngr c:rcumt'crcn(.c of a‘circular tm(.k is 22{} . ThL lr.s{.k is 7 m wtd:, u Lry w 10re, Cal cul a'té:': o

= thc cost of pullmg up a fence dlong the outer circle at the rate of T 4 per metre., . [U%L K= 221";’]' s

120 How nmny times wn!! I}:t, whcd 01 car romt:, in 310urnt.y o{ ”(}0" m, :1 lht. mqu of the whu,l s
1‘,49cm" o T T PR TERTU CIRIIS =

T 14. Thru: cubes w hoqc cdgcg mcasurc& cm 4 cm and c:ﬁ"rc's;[')'e'c'lii'él_\f tt’)’ fdi‘m a
ﬁnd its edgn. Alqo Fnd the qurfacc are 1 of lhc m.w cubc c -

ngle cube

carry 3 marks each.
19 The first term, common difference .md tast lcrm of‘m A P. d!"c I
' lhe sum of 11[ tenm. of this' AP - L

: 'Qm, stion numbers: 910 28

2, 6 and 252 respectively. Find

o Tht, angles of a lmng!u ase
{r:ang!c :
R

in ‘AP, The greatest anglé is hvice the last Find all angles of the

So!vt. for xia B '5::()1. + 25







28,7 A'solid s.pht_rc of diameter 14 ¢ is cut into two halves by a phnc pd‘zamL throuﬂh llu. centrc o
' -.j E Fmd lhc combmt,d surfacc ared’ of thc wor hcnus‘phcrca S0 fonm,d e 5

Qm.snon ntmbers 7’9 {0 34 carn n.'zml.s'e(:'c"h S o e,
_ 129, A motor boat whose specd i 18 knvh in still water takes 1 h"b'u'r' more to go 24 ki upstream’ -
- {han 1o retum downstrcam to th same spot Fmd the' s*pwd of S[l’t.dﬂ'l REEE R o
RIS glrl i fwice as old as her sister. Four ye.drq hcmc lht. product 01 thur 'lg{,s {m yearsy will be I60 RS
Fmd their present ages. . Lt

o300 Jaipal Singh repdyq thc total loan 0[' ? 118000 by paymg cvcry monlh starting with the first:
'msmlmmt of T 1000: If he increases the instalment by T 100 every month, what amoant will be paid b} S
h:m in the 30th instalmient 2 What amotint ‘of loar does he still have 1o pay ‘after ?Ulh instatiment; :
31 In t"gurc AB 1nd CD arc two pdr'i!!c,l [dnﬂcnlh toa cm:!c with (,cntrc o ST is ldﬂﬁult

o _.._.:-‘q lhc pomt (a 0) .Show that ﬁ-;- —S-l-é- is mdepcndcnt of 1,

_ 33 From a bulldmg 60 metres h]gh the angle of dcpn_qmon of thc top '1:1d bonom of & l.1mp P
. are 30° and 60° respectivi cIy Find the distance betwedn the Idmp pos.t .md lht, bu;!dmw A

L dlffcn.ncc of height between the bm!dmg 1:1d hmp post N '
w34, The stant height of a' fristum of a’‘cone’is- 4iem nid lht, pcnmucrs (c.:'
c:rcular t.l'ldS .irc 18 a.m and 6 cm Fmd lhe. Lunrcd qurt‘.xu, erd ot‘thL, fmslum "

and hclg:h_
ice-crear: Thb ice-cream’ is 1o be’ hlI{_d iitg’ co;_lt.s of he:ght I‘? cm and dmm:,u.r '6'
- hcmlsphcnca! bhdpc on lhctop Fmd thc num '




i Dmmc:er of the whce! =70 cm Or 3 1056 - 12 650 {1me‘;
. Edgc of new Cllbt, <6 cm, Surtacc drea of lhc few cubc = 2!6 em? '
'Consccutwe odd numbers = 13 and ES or - 15 and = 16 BP = = 12, 6 cm (appm\: ).






